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PAPER I

(GENERAL)

1. is an instructional strategy and a type
of blended learning, which requires pupils complete
readings at home and work on live problem solving
during class time.

(A) Virtual classroom
(B) Google classroom
(C) Flipped classroom
(D) Hybrid classroom

2. For most classroom purposes, which among the
following is the best suited for social skills assessment?
(A) Checklist
(B) Rating Scale
(C) Numerical Scale
(D) Rubrics

3. type of evaluation is used for

monitoring the learning process of students.
(A) Summative
(B) Formative
(C) Diagnostic
(D) Assimilative

4. is an innovative tool that enables
teachers to take students on immersive virtual journeys
and field trips to various destinations.

(A) Google Classroom

(B) Google Expedition

(C) Google Virtual Tours

(D) MS Classroom Expeditions

5. Constructivism in classroom is
(A) teacher focused
(B) student focused
(C) activities focused
(D) questions focused
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¥ A @TTT & fere Adasi1d FA 27 s Hwii
5\ ST 29 o)<l T 432 FT SARE 2119 IR
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6. A poll is done to estimate the proportion of

employees of an organization who think that they are
actively engaged in their jobs. The poll is based on a
random sample of 400 employees. What is the
conservative margin of error of this poll?

(A) 0-05

(B) 0-04

(C) 025

(D) 0-10

7. The discrepancies between the estimate and a
population parameter is known as
(A) Formula Error
(B) Sampling Error
(C) Non-sampling Error
(D) Common Method Bias

8. Ifthere is linear trend present in the population,
then which of the following methods is the most
efficient sampling technique?

(A) Cluster Sampling

(B) Systematic Sampling

(C) Stratified Sampling

(D) Simple Random Sampling

9. Who called the study of communication
‘Rhetoric’?
(A) Socrates
(B) Karl Marx
(C) Aristotle
(D) Noam Chomsky

10. The most significant approach of evaluation is
(A) continuous and comprehensive evaluation

(B) conducting
examination

(C) maintaining cumulative records of students
(D) semester system evaluation

objective  term-end

Y4
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11. The process of learning about our own culture
which is transmitted from one generation to another
generation is known as

(A) Acculturation
(B) Enculturation
(C) Inter-culturation
(D) Assimilation

12. What is 20% of 30% of 40% of 50%?
(A) 12%
(B) 24%
(©) 24%
D) 12%

13. Adealerpaid abike manufacturerRs. 1,35,000 for
a bike. What should be the selling price of the bike, if
after allowing a buyer 10% discount on the selling
price, he made a profit of 8% on his investment?
(A) Rs. 1,60,000
(B) Rs. 1,62,000
(C) Rs. 1,52,500
(D) Rs. 1,50,000

14. The average age of 30 students in a class is 15
years. If the age of two teachers of the same age is
included, then the new average age becomes 17 years.
What is the age of either of the teacher?

(A) 44 years
(B) 47 years
(C) 94 years
(D) 54 years
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15. P,Q,R, S, T, U, V and W are sitting around a
circle and are facing the centre.
1. Pis second to right of T who is neighbour of R
and V.
2. S is not the neighbour of P.
3. Vis the neighbour of U.
4. Qis not between S and W. W is not between U
and S.
Who of the following are not neighbours?
(A) Rand V
(B) Uand V
(C) Rand P
(D) Qand W

16. In an organisation 40% of the employees are
matriculates, 50% of the remaining employees are
graduates, 50% of the remaining employees are post-
graduates and the remaining 75 are Ph.D holders. How
many employees are graduates?

(A) 300
(B) 75

(©) 150
(D) 225

17. Bivraj walks 20 meters north. Then he turns
right and walks 30 meters. Now, he turns right and
walks 35 meters. Then, he turns left and walks 15
meters and then again he turns left and walks 15 meters.
In which direction and how far is he from the original
position?

(A) 45 m, East
(B) 35 m, East
(C) 45 m, West
(D) 35 m, West

18. A, B and C invested capitals in the ratio3:5: 9,
the timing of their investments being in the ratio2: 3 : 1.
In what ratio would their profits be distributed?

(A) 2:5:3
B) 3:
©) 7:
D) 3:

e N

5
03
2
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(C) 150
(D) 225
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19. Find the worng number in the series :
2,3,5,7,12,17, 19
(A) 2
B) 5
©) 12
D) 19

20. Match items of List-I with the items of
List-1l and indicate your answer by selecting the correct
code.

List-1 List-11
(Event) (Month/Year of occurrence)

(a) The ‘Earth Summit’ in (i) September, 2000
Rio de Janeiro, Brazil,
where more than 178
countries adopted
Agenda 21

(b) Millennium Summit at
UN Headquarters in
New York led to the
elaboration of eight
millennium development

(i1) June, 2012

goals to reduce extreme
poverty by 2015

(¢) United Nations (i11) June, 1992
Conference on Sustainable
Development (Rio + 20) in
Rio de Janeiro, Brazil
where number of states
adopted the outcome
document “The Future we
want”

(d) UN Sustainable
Development Summit
where 2030 Agenda for
Sustainable Development
with 17 SDGs at its core
were adopted

Codes:

(@ (b)) (© (@
A @ G @Gv) (i)
B) @G (@) @) Gv)
©) i) @ 3>) (Gv)
D) Gv) () G @)

(iv) September,2015
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Directions: Question Nos. 21 — 25

In the following Pie Chart, distribution of candidates
who were admitted in MBA and the candidates (out of
those admitted) who passed the examination in different
institutes are given .

Total number of candidates Total number of
admitted = 8550 candidates who passed the
examination = 5700

21. What percentage of candidates passed the
examination from institute T out of the total No. of
candidates admitted from the same institute?

(A) 50%
B) 52:5%
(©) 75%
(D) 80%

22. Which institute has the highest percentage of
candidates passed to the candidates admitted?
(A) Q
(B) R
© v
D) T

23. What is the ratio of candidates passed to the
candidates admitted from institute P?
(A) 9:11
B) 14:17
(C) 6:11
D) 9:17

24. The number of candidates passed from institute
S and P together exceeds the number of candidates
admitted from institute T and R together by
(A) 228
(B) 279
(©) 399
(D) 407

Y-8

e @ A5 (rem etz v fSfers frmfafie enafom
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(A) 50%
(B) 52:5%
(C) 75%
(D) 80%
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(D) 407



25. What is the percentage of candidates passed to
the candidates admitted for institutes Q and R taken
together?

(A) 68%
(B) 80%
(C) 74%
(D) 65%

Read the following passage and answer Question
Nos. 26 to 30:

The eye-ball is a little camera. Its smallness is
part of its perfection. A spheroid camera, there are,
not many anatomical organs where exact shape counts
for so much as with the eye. Light which will enter
the eye will traverse a lens placed in the right
position there, will traverse; all this making of the
eye which will see in the light is carried out in the
dark. It is a preparing in darkness for use in light.
The lens required is biconvex and to be shaped truly
enough to focus its pencil of light at the particular
distance of the sheet of photosensitive cells at the
back, the retina. The biconvex lens is made of cells,
like those of the skin but modified to be glass-clear.
It is delicately slung with accurate centring across
the path of light which will in due time, some months
later, enter the eye. In front of it a circular screen
controls, like the iris-stop of a camera or microscope,
the width of the beam and is adjustable, so that in a
poor light more is taken for the image. In microscope,
or photographic camera, this adjustment is made by
the observer working on the instrument. In the eye
this adjustment is automatic, worked by the image
itself!

The lens and the screen cut the chamber of the
eye into a front half and a back half, both filled with
clear humour, practically water, kept under a certain
pressure maintaining the eye-balls right shape. The
front chamber is completed by a layer of skin
specialized to be glass-clear and free from
blood-vessels which if present would with their
blood throw shadows within the eye. This living
glass-clear sheet is covered with a layer of
tear-water constantly renewed. This tear-water has
the special chemical power of killing germs which
might inflame the eye. This glass-clear bit of skin
has only one of the fourfold set of skin-senses; its
touch is always ‘pain’, for it should not be touched.
The skin above and below this window grows into
movable flaps, dry outside like ordinary skin, but
moist inside so as to wipe the window clear every
minute or so from any specks of dust, by painting
over it fresh tear-water.
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The light sensitive screen at the back is the key
structure. It registers a continually changing picture.
It receives, takes and records a moving picture life-
long without change of ‘plate’, through every waking
day. It signals its shifting exposures to the brain.

This camera also focuses itself automatically,
according to the distance of the picture interesting it.
It makes its lens ‘stronger’ or ‘weaker’ as required.
This camera also turns itself in the direction of the
view required. It is moreover contrived as though
with forethought of self-preservation. Should danger
threaten, in a moment its skin shutters close,
protecting its transparent window. And the whole
structure, with its prescience and all its efficiency, is
produced by and out of specks of granular slime
arranging themselves as of their own accord in
sheets and layers, an acting seemingly on an agreed
plan. That done, and their organ complete, they
abide by what they have accomplished. They lapse
into relative quietude and change no more. It all
sounds an unskilful overstated tale which challenges
belief. But to faithful observation so it is.

26. How does light enter the eye?
(A) As apencil of light
(B) By traversing the lens of the eye
(C) As aphotosensitive cell
(D) As abiconvex lens

27. Theiris-stop of the eye adapts to the image or to
light—
(A) automatically
(B) by centring
(C) by shifting exposures
(D) by focusing

28. The shape of the eye-ball is maintained by
(A) the retina

(B) the aqueous humour kept at a certain
pressure

(C) the biconvex lens
(D) the transparent skin in the front chamber

29. The word prescience means
(A) instinctual
(B) automatic
(C) natural
(D) foreknowledge
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S IR N /7)o A0 AR 23 | ] T,
e e @2 el RS WArelE Ao Aol we
T BEIE, AR SRS (ZEA AOEe T691F S
et 2@ @0, T SoifaaSa | eFesics el Toaio
SR @R SfeTae TEtse, Ao 7Ll @7
S O |

26. IS A G oo 2= T 2
(A) SR (@Y
(B) (BIC4S &1 Sfo@ s
(C) ST ARV (PRt

(D) e @Tr=mee!
27. (BICT iris-stop Aozl A IAEME AeIEr®
IR
(A) FRfEFTelE
(B) (F@IFACIA ML

(C) BERET® AR ST
(D) SIf®RICeR e
28. ©IfFF (AT SPTs Il A
(A) @R ==
(B) faft® oz qwiz T=wicef et SIwaceld =il
(C) "l 1713 =4l
(D) < A F¥2 GINTE 7l

29. PrescienceﬁTW@‘ﬂ' WQf?i_G‘{
(A) >Rele
(B) Fafeaw
(C) Freifxs

(D) <@



30. Choose the most appropriate description of the
passage from those given below:
(A) A class lecture on biology
(B) A section on the human eye from a
physiology textbook
(C) A note in a medical handbook

(D) An informal discourse on the amazing
organ of sight

Study the diagram below and answer questions
from 31 to 33 :

35
AN \ 17
> 3 D Artists
22
g (O Players
ﬂ Doctors
30

31. Howmany doctors are neither artists nor players?
(A) 17
(B) 8
©) 4
(D) 22

32. How many players are neither doctors nor artists?
(A) 25
(B) 30
(C) 60
(D) 17

33. How many artists are both players and doctors?
(A) 22
(B) 8
<7
D) 3

34. Which of the following includes examples of
quantitative variables?
(A) Age, Temperature, Income, Height
(B) Gender, Religion and Ethnic Group

(C) Grade Point Average, Anxiety level,
Reading performance

(D) Both (A) and (C)

Y-11 00-1

30. e e (e Aankeaa Ao At fo<ios
PP

(A) GRRGIET TA7 @ifd agel

(B) TR Ao (ATF AT S
(C) PRt AR AR SIHRT

(D) WG GG S5 Gas SIHhCe! Sl

v foal® ew @R 31 (AT 33 794 AT T T

35
AN \ 17
3223 L] s
q O w@ee
N fBiresrs
30

31. G GN FOGH TG AR T e T
G CAETRIOS J 2
A) 17
(B) 8
(C) 4
(D) 22

32. AN IO CATERIG (e Fi e 7e «ag
Ee F 2
(A) 25
(B) 30
(C) 60
(D) 17

33. @5 Fooe RE @ TR RETReS R
Dieerme ?
(A) 22
(B) 8
© 7
(D) 3

34, EfEie @ S sl A ceiRiEas
3! BEIA TWIES (TATS AT ?
(A) T, SN, TG, Tl

(B) forst, a5 @2 ofiisjm
(C) AT 2 9T 771, Trzel &, 211 F~oA7e
(D) (A) €3¢ (C) Texg
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35. Which of the following are the goals of higher
education in India?
(i) Access
(i) Equity
(iii) Quality and Excellence
(iv) Relevance
(v) Value based education
(vi) Compulsory and free education
(A) (@), (iD), (v), (Vi)
B) @), (i), (iid), (iv), (v)
©) @), (), (v)
D) (@), (i), (iii), (iv), (v), (Vi)

36. The Red Data Book which lists the endangered
species is maintained by which of the following
organisation?

(A) UNO
(B) WHO
(C) TUCN
(D) WWF

37. Statements (a) All branches are flowers

(b) All flowers are trees

Conclusions : (i) All branches are trees
(i1) All trees are branches
(iii) All flowers are branches
(iv) Some trees are branches
Codes:

(A) Only (i) and (iii) follows

(B) Only (i) and (ii) follows

(C) Only (i) and (iv) follows

(D) Only (i) follows

38. On the monitor of a computer, a pixel is usually
a

(A) Circle
(B) Rhombus
(C) Triangle
(D) Square
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35. GF GFINSE SRCoH CHFEFIT o1 o7 ?
(i) ToErere!
(i) =R
(iii) QO € XDy
(iv) ArEel
(v) TEncRiafofes M
(vi) FrergEr @ sy
(A) (@), (i), (v), (vi)
(B) @), (i), (iii), (Qv), (v)
(©) (@), (i), (v)
(D) (@), (D), (ii), (iv), (v), (vi)

36. (3T TGl 59 (Red Data Book) e gwifex
e AR MY @ AT Fie 902 2

(A) UNO
(B) WHO
(C) IUCN
(D) WWF
37. [3fe (a) T8 ¥I142 2o &1
(b) T FiE 2 SIg
CR (i) B =142 sig
(ii) T SRR i<
(iii) T8 Fer2 ¥
(iv) Tz iz 2 ==
T :

(A) 8¢ (i) 9= (iii) 2ZI%0
(B) ¢ (i) €% (i) SZICIol
(C) Y (i) 9=k (iv) LZICIY
(D) SgNI (i) 22oll5y

38. «Ib IO N6 I3 (pixel) 202 SETS
GEaT

(A) g8
(B) %A
(C) fagw
(D) (=g



39. Which of the following is not a feature of
NEP 2020?

(A) 10+2to5+3+3+4
(B) Multiple exit options in UG programmes

(C) Multilingual instruction and learning
(D) 3 Yr PG Programmes

40. ‘Cirrus’ refers to
(A) alow cloud
(B) ahigh cloud
(C) arain bearing cloud
(D) a hail bearing cloud

41. Which of the following clearly mentions that
“India is a Union of States”?

(A) Article 1

(B) Preamble

(C) Article 13

(D) Govt. of India Act, 1935

42. Which one of the following universities is not

among the first three universities which were established
in 18577

(A) Calcutta
(B) Bombay
(C) Madras
(D) Delhi

43. In communication, language is a
(A) Non-verbal code
(B) Symbolic code
(C) Iconic code
(D) Verbal code

Y-13
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39. S @0 NEP 20203 (3% w312
(A) 1042 5+3+3+4

(B) Fres AN «Fifas 2z fom
(C) IzeiTT Hor @ S
(D) TS 929 Fre@ed Algaw

40. BT 251 9o —
(A) 95 e Srw et o9
(B) ©f ea ©re el (9
(C) @ 9 3R =i
(D) (@ (79 AT S

41. ‘SR SRSl AT TR (India is a
Union of States) — A1to3 Reaafera sy @bee @3
TGN =IFOIE SEY TR ?

(A) eqgo=m 1

(B) &It

(C) SIwan 13

(D) O FIFIE B2, 1935

42. 5 2w @i Rt 1857 361w afsfre
A5 foqft Reifawyieis wifceige 22

(A) 0!

(B) Gy

(C) Wwle

(D) fufar

43. FESAEF-97 CFCg O 25
(A) @3 TH-o[E @
(B) @35 PrrRfers (e
(C) «3fb oElas (e

(D) S I
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44. Which of the following research method is
based on controlled observation?
(A) Historical Research
(B) Philosophical Research
(C) Descriptive Research
(D) Field Experimentation

45. There are many countries in the world which
despite high levels of per capita income and GDP
growth / real income, experience high mortality rate,
undernourishment rate, poor literacy and so on. What
is this state called?

(A) Growth with Development
(B) Development

(C) Growth without Development
(D) Development without Growth

46. A videoconferencebetween Susmitain Mumbai,
Radhakanta in London, Barun in Guwahati, Jayanti in
Singapore, Sudhansu in Tezpur, Purakayastha in
Kolkata and Sunil in Bhubaneswar is what type of
communication?

(A) Mass Communication
(B) Group Communication
(C) Group Mediated Communication
(D) Public Communication

47. ‘International Standard Book Number’ (ISBN)
is a digit unique numeric commercial

machine-readable identification number meant for
publication of books and book like products.

(A) eight
(B) ten
(C) eleven
(D) thirteen

48. APA format is a writing style guide and format
produced by the
(A) American Psychological Association
(B) American Psychiatry Association
(C) American Psychological Assembly
(D) Annual Psychological Assembly

Y-14

44. FEFRS @A o Awfe Frfgs s
(controlled observation)-43 ¢+i7 fefe o Fdifre =2

(A) AfeRIB sitz@ell (Historical Research)
(B) W< sita@el (Philosophical Research)
©) ?T‘WW 91t (Descriptive Research)
(D) (g Tl 5ita=ell (Field Experimentation)

45, SIS 9T S (7 TR0 @A 91T BT 8
ool gim 49 (7 2e 70ge EIIE Tg 29 (@ @3
9% ¢ SRERT 2Re @ | 74 9T T O Ol AE

(A) 212 T2 (TTSHAATTD
(B) (TCSHATTD

(C) i TAITH (Croe17ITT
(D) (BTSHATTG TIMOT (2l

46. T2 (A ATl TS (A TS, @2 (A
32, Ptiod (A0 TRIG), (ST (A HHRY, IS
(A TP GR TICTH (AT FANeT— G & I
oG FFIEH 27 O GHICE F Qo FLN9| JeT] 7R ?

(A) steEe (Mass Communication)

(B) V@I ALl (Group Communication)

(C) wairg S4rFel A9 (Group Mediated
Communication)

(D) egtel (Public Communication)

47. THRMHEE SISC 3§ 79387 (ISBN) 20%

RS [xR MAPpE Afdifers @i =l

e AN SR LR (g ATy el
T

(A) ©I6
(B) Wi
(C) @sieal
(D) ol

48. «. 9. «@. 777 (APA format) 2% @& feraa
Awfs A [ TR G3R AfeEE
(A) SR AR SHEN RS
(B) SN ARG syenf=e
(C) S AR SHe™iE
(D) SUIIE ARCFIATCTHIE ST




49. A narrative literature review best refers to

(A) gathering, critiquing and summarising
Journal articles and text books on a
particular topic potentially toidentify gaps
in the literature.

(B) a paraphrase style of reviewing which
does not require referencing.

(C) an initial impression of the topic which
you will understand more fully as you
conduct your research.

(D) the earliest literature is not narrated with
full details.

50. From the following list of methods of teaching
used in institutions of higher learning, identify those
which are learner-centred :

(i) Project Work

(i) Chalk and Talk

(iii) Lecturing with audio-visual

(iv) Computer-aided instruction

(v) Simulation and Role Playing
Choose the correct option.

Codes:

(A) (1), (iii), (iv)
B) @, (iv), (v)
(©) (@), (i), (i)
(D) (i), (Qv), (v)

Y-15 00-1

49. SRR IREE| ?F@’WT (Literature Review)
43 A5 e = —
(A) @ @ We e Aesir e
wprspefel bfeesaer e aitadie@ ¢
ARG FRER, NGB & ATFRTTHATI |
(B) omarwred @3 < @A Qo
SRHES] (2 |
(C) a3 2Nl qizell Tl SNieiE siaRell
TS SR S SR S FC FAE |
(D) & fa=alt Rgoeia i 1 23f |

50. T AfeRie aRze FEERe Wl oo
Sifeeia S (@Fime it
(i) 25 P
(ii) BF S 5F
(iii) -2y fefes agel
(iv) FNATHR s et
(v) SEel @ gl At
Ao Femfs Hdive T -
a@ :
(A) (1), (iii), (iv)
(B) (1), (iv), (v)
(C) (), (ib), (iii)
(D) (iii), (iv), (v)
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